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Note: Section 13 is compulsory. Atterapt any TW questions from section C.
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2. Write shon answers 1o any FOUR parts.
i, Define programmer.
ii. Describe multitine commaents with examplo.
. Whal is the purpose of compiier?
What is the difference between unary operalors and binary operalors? e g A4T6 4 P ANYE]
K3 TOR
! ..'z,.'.ﬁ'éw" Lifde, i
E S Langedf 3
.Z‘f . ,;J‘QZ P A
,zf u}: ¥ if-statement i

" & Pl
?4,:4/?‘:_% if-else »< il

v Draw truth table tor OR operator.
vi. Determine the output of the given code segment: printf (n\nnmnnnn”),
3. Write shor answers to any FOUR parts. (4x2=8)
i Define condition.
. Write the syntax of if-statement,

a1, What is nested if-else statement?

iv. Whatis the output of the given code? { te 22l § 37 v
intnl =5,n2=9,a,b;
a=nl+n2+n3;
b=n2%*nl;
printf("%d %d",a, b);
}
@
£ -4 7 .
Define data slructure. G AL P v
[ " 4 ”
. Declare an array that stores the word "PUNJAB”. S MFPUNIAB 2 E e il i
& Write short answers to any FOUR parts. (4x2=8) & Yo g L.l:!llgc-éf -4
Tescrbe “deade and conquer rule. _éc.»ugév‘mg,",-f"f, o r,",{’;” i
£ o A sy X
winte down siructure of funclion defimtion. R 54 A i
& /-:"-I st
v Write down syntarx of function call, ST b
v Wnal are user-defined functions? fL f&‘u"c’ Meilr W
g - .
. Wt down outputof the given code: for(j=0; j< = 3; j++) P JONETE TP ST,
printf("%d", j);
" £ .
v, Identfy error{s) 1n the given code: int array {-5]; AR R PRI SRR
array(-5] ={2,4,6,8,10}
SECTION-C /v.»
e K - 1 .
‘Note: Attempt any TWO questions, Each question carries 8 marks. S AL Ny s ol st na My

L

5 Lo, [ sy
5. Describe the cominenits in C-language and describe purposes and types of comments. :s:ié.yk;‘,{i,,,‘ el ‘_/‘ ten fifa:—\_,) LEr-c 5

X s L bk =
6. Explain different types of relational operators with examplas. el 3;14_,'; Lol B

7. Using For lcop. write down a program in C-language ‘,‘,/’(,u-,'df 50, 40. 30,20, 102 -’-é',"i’ﬂ’t.u,('u’:é'é:"CL!fL.{U"\A’ZlU(? sFor .7

that diSplays lo. 20. 30, ‘10. 50- on co HDU'GI screen
// /'&/
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2. Wrile short answors to any FOUR parts. (4x2=0)
I Whatis an identifior? S o i < idontifien LUK 4
i Who is a programmer? S";,.l;':fu//lfu, Rl
hi. Define keywords. .éé.z/di!u& i
iv. Whatls the purpose of assignmant oporator? ,éuywuulg/{w v
v.  What do you mean by short clrcuiting? Ygily L/z..ﬂ/.'.ul# v
d. Fi ( : int ay (L6200 orror(s) LI E s i
vi. Find erroris) in the given code scz,ml‘(("[?.mer it ‘l’r.('l":u);
printf {value of a 18 % d": a);
3.  Write short answers to any FOUR parts. (4x2=8) .é{/a(,lz;[.dxhkaéf -3
i, What is meant by conditional logic? Sl e nP
i, identify errors in the given code. int 230 3 "‘dxl‘z’dur_“’ulsfa’lz__, il

i

printf(“%f", y)

int x=5, y=10;

if Cey)

X++,

olse

ytt

printf (“%d", x, y);

Write down the output of the given code:

(Continued, PTO)

B S s i

(4!';3/)-6:-6/9)

(2)
iv.  Differentiate botween /fand if e/se statement. .&'Zruydju:.',}‘é ifolse 4 If .iv
v. Define dala structure and give an example. _:ipdb»ul:l,;lé.,!f""j‘[,%’;; v
/1. How array elements are arranged in memory? X‘.;;.&:.'Lr,._g; '.'z'“&’:-"-:l'uzdu": i
A Write short answers to any FOUR parts. (4x2=8) -éé;}.-,w,ﬂé,,m,yd_&[ 4

v,

identity errors in the given code!
7

Wirile down the output of Lthe given code:

What are function parameters?
V/hat 1s meant by built-in function?

Desenbe 'divide and conquer rule’.

Whatis funchion signature?

SECTION-C /r.»

float [5)
int Z{10)

forCint x = 5; v <= §0; X =.x+10)
printf("%d \t', x);

Note: Attempt any TWO questions. Each question carries 8 marks.

5.

Describe the purposa and syntax of comments in
C-Programs. Explain its types also.

What are logical operators? Describe its types in detail.

Write down a program using forloop in
C-language that prints odd numbers from 8 to 20.

(EG S e S s
:é‘q.&)l’d!/i{.q,» i

Ea i i

ad
Yol sy et v
.E.'{'.-.»Upjdﬂlé.'i/zulu’l,.‘j' v

5
!“;_ e Lf“." u‘fd i
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S s gL Eroof
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